<

CAMO2ZZI

Automation

NSEL

-
b

£x
N7y

90 RF|AR%

SHMPUTITH > 90 BRI RERSE

90 Z I A TH W SEL

FREERE > 11.0

BIERMIER, #fE, T IASEN
4112 32,40, 50, 63, 80, 100, 125

AT

VDMA

‘\\‘ ""

» #4 1S0 15552 45
» EE BT

» AWM R AISI 316
> AASEH

90 RIIFFBWMRANZERTFTE & 1 2ENRGRBMEEEAXTE LMY
ISO 15552 #rfE, €@ AFEMMRRESHT 2. WM IR <1555 1/8.05.01 W
HZMRELGT, AR TERHEREN 3. B{ERSELHEATEN 75mm
et . M EMEBIGRNER TS, 4 BERSE&/NTIE 10 mm

SEREE LEF—okBEsk, B
REUMMEEFX, UTBHEENNER
5. HEhE EHERTRSEREE MR
VI mE, DR EEENA TR AR =
ERRE,
FEEH
Etafine RATFR
TEAR B ERFIIER
W AISI316 REWm=. GEIRREET, TRBRESE. BRSETMEF, NSFHLIAERA
ZEAN BISEA=, MIZR, RISUEEH, 90° Mm%y
718 25+ 800 mm
TERE 0+80°C (FHg=5S4-20°C)
TEEAD 1+10bar
EE 10+1000 mm/s (Z5%)
N EERSS, AREB. WEATHEDE, NARMNERREDE (BIVERIS0VG632 jEiEiH)
1/3.05.01 FATREBX = QEEOF, MEEE, BEBFEM

155

A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



FREERA > 11.0

90 RIIFFWSULIRETRR

x = WIER

o - BIE

AT (mm)

SHPUTICA > 90 RIIRENSEL

7} 25 50 80 100 125 150 160 200 250 300 320 400 500
32 xe xe x x x x x x x x x x x
40 xe xe x x x x x x x x x x x
50 xe xe x x x x x x x x x x x
63 xe xe x x x x x x x x x x x
80 xe xe x x x x x x x x x x x
100 xe xe x x x x x x x x x x x
125 xe x x x x x x x x x x x
90 RISELKS

90

M 2 A

050

A 0200

90 EX )

M E3:4]
M=fRER Bt

2 IEAR HEEEHS
1=BER (FsesE) S06
2=EM, BI. BUBESEA D09
6=RMER, WA, 87, FTEIEH (D13

"
A=AISI 316 RENESEM. THERES
V=AISI316 NERE B, FARREH M

050

[aKES
032=32mm - 040=40mm - 050=50mm - 063 =63mm
080=80mm - 100=100mm - 125=125mm

RERME
A A= Rl
0200 "* ™
o

V= FURBATm & S

HlgE

s

E (D09 L D13

(S06

ANFREX - RBHENF], MEEE, BRBTEHN
FAFRATILSE, FitmEThREEE
BAFRMHEEFHTERANTMEEN

1/3.05.02
156

<

CAMOZZI

Automation

il

X2
OB

o

90 7%



<

cAMozz: ST > 90 RII RGBS RS ERA > 110
90 25 BN R
=
r .
B pu- =
T
RGN 3
< o
= A =F o
I.Q\ \'v/i“
N
g B-90 &Y D-E-90 &Y C-H-90 &Y L-90 &Y CR-90 &Y
[HES IR = MAET. EEH M EE M f5 B

=

R-90 #Y ZCR-90 7Y 7C-90 #Y G-90 #Y S-90 #Y

HikEHE IERES S 90° it Fa L 32 X AT imiE sk EihH
\\‘h_-‘ - -_.d’

SR-90 #Y GA-90 %! U-90 #4

ek B s BRE AT 1 Sk 5 i X R R
SEHR, ERTEHEES—R
H AR R IRIT I
1/3.05.03 RASRBHF RO, MEEE, RSN

—_ PR RAT TG, £ T WU HE
157 BRFRHEEFMHTERAATNEER



<

FREGERA > 110 SHPTEl > 0 RATRGASL  CAMoZ2

Automation

| 90 ZHiRgEmsa
. BERSEIRS L. RN 25 mm

Swi
—
_ o | x w H3
+= TR s § X w—"
=
OB
ko
f%
=™
(7
N&
o
o~
RI%®
2 AM B BF BG E EE G KK L MM N PL RT RL  R2 Sw swi T TG VA VD WH
32 22 30 10 16 45 Gl/8 28  M1Ox1.25 94 12 45 14 M6 64 16 10 17 M5 325 4 20 26
40 24 35 10 16 55 Gl/4 315 M12xl.25 105 16 55 16 M6 70 21 13 19 M6 38 4 22 30
50 32 40 12 16 65 Gl/4 315  M1exl.5 106 20 85 21 M8 7% 24 17 24 M8 465 4 28 37
63 32 45 12 16 80 G3/8 35 M16x1.5 121 20 85 22 M8 85 33 17 24 M8 565 4 28 37
80 40 45 15 16 95 G3/8 36 M20x1.5 128 25 85 23 M0 92 34 21 30 M10 72 4 34 46
100 40 55 15 16 115 G1/2 41 M20x1.5 138 25 10 26 M10 100 58 21 30 M10 89 4 38 51
125 54 60 24 20 140 Gl/2 45 M27x2 160 32 125 30 M2 110 65 27 41 M2 110 5 50 65
| 90 ZFImbHFRSERSAT
A BERSEIRS L RL, ZM 35025 mm
_AF =A% _ .
" = 7 3
R1 + E
EE PL 16
S
TR ;&E} ; AN
\4/‘\\)?* i M
\ = HX} H o 1 - o
R |
+ = 1@ hniTRe - «@,\\ _/‘ il \
v+ = N2 MR &2 /f O =
& T o
NS | ¥
BF
G
L+
IM ++
RI%®
4% AM B BF BG E EE G KK L MM N PL RT RL  R2 SW swi T TG VD WH M

32 22 30 10 16 45 G1/8 28 M10x1.25 94 12 4.5 14 M6 64 16 10 17 M5 32.5 20 26 146
40 24 35 10 16 55 G1l/4 31.5 M12x1.25 105 16 5.5 16 M6 70 21 13 19 M6 38 22 30 165
50 32 40 12 16 65 G1l/4 31.5 M16x1.5 106 20 8.5 21 M8 74 24 17 24 M8 46.5 28 37 180
63 32 45 12 16 80 G3/8 35 M16x1.5 121 20 8.5 22 M8 85 33 17 24 M8 56.5 28 37 195
80 40 45 15 16 95 G3/8 36 M20x1.5 128 25 8.5 23 M10 92 34 Zil 30 M10 72 34 46 220
100 40 55 15 16 115 G1/2 41 M20x1.5 138 25 10 26 M10 100 58 21 30 M10 89 38 51 240
125 54 60 24 20 140 G1/2 45 M27x2 160 52 123 30 M12 110 65 27 41 M12 110 50 65 290

ANFREX - RBHENF], MEEE, BRBTEHN 1/3.05.04
FAEE@BTILGE, FitEETWREHEE T q1ce
BAFRMHEEFHTERANTMEEN 158



<

CAMO2ZZI

Automation

NSEL

-
b

£k
7]

90 RF|AR%

SHMPUTITH > 90 BRI RERSE

| B-90... &gz

C\/

MEL RN (316)

FREERE > 11.0

XA +
e 2 MBI 4 A RERET H1 ~F N
REHY - _ aat <&
+ = TR o £
CI[T
TR
SA + E
Rt&
s fAkES AB AH AO AT AU E TR SA+ XA+
B-90-32 32 7 32 11 4 24 45 32 142 144
B-90-40 40 9 36 8 4 28 52 36 161 163
B-90-50 50 9 45 15 5 32 65 45 170 175
B-90-63 63 9 50 13 5 32 75 50 185 190
B-90-80 80 12 63 14 6 41 95 63 210 215
B-90-100 100 14 75 16 6 41 115 75 220 230
B-90-125 125 16 90 25 8 45 140 90 250 270
| p-e-0.. Bg, ik
#El. 316 FEH
-
3
b S "
Qe M R
L EN
| D D
. I AEER 6 AR i o j‘: $
Y TR R 5 @
723 N— }E \J_ B |
+= 14T _ 4& Q‘r =2
@ Py
\e%
v
ZF + ‘
R-t&
S ke E FB MF TF UF w ZF+ R
D-E-90-32 32 45 7 10 64 80 16 130 32
D-E-90-40 40 52 9 10 72 90 20 145 36
D-E-90-50 50 65 9 12 90 110 25 155 45
D-E-90-63 63 75 9 12 100 120 25 170 50
D-E-90-80 80 95 12 15 126 150 30 190 63
D-E-90-100 100 115 14 15 150 170 35 205 75
D-E-90-125 125 140 16 20 180 205 45 245 90
1/3.05'05 AATREX = RBHMONF], MBEEXE, BAAITEHM

159

A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



<

FEREERE > 110 ST > 0 RAIAGWS  CAMozZ

| C-H-90... RIS H . S E 4
L RER (316)

i LB 4 DRI
REHRY

)

-

cb

&
=<

+= 1872

[S2)
KD

XD +

FB
90 R FINEEWKEL

R®

B FARES B ()] E FL L MR UB XD+
C-H-90-32 32 26 10 45 22 12 10 45 142
C-H-90-40 40 28 12 52 25 15 12 52 161
C-H-90-50 50 32 12 65 27 17 12 60 170
C-H-90-63 63 40 16 75 32 20 16 70 185
C-H-90-80 80 50 16 95 36 22 16 90 210
C-H-90-100 100 60 20 115 41 25 20 110 230
C-H-90-125 125 70 25 140 50 30 25 130 275

| voo.. moREES
MEL REW (316)

3
W
c__ O $
B 1EA 4D RERET - oy Y
REHS w 1 Isa 7 N al
e & e .
+ = i hniTie T . ’ 1
CHES)
L
FL
XD +
Rt%®
RS EARES EW D E FL L MR XD+
L-90-32 32 26 10 45 22 12 10 142
L-90-40 40 28 12 52 25 15 12 161
L-90-50 50 32 12 65 27 17 12 170
1-90-63 63 40 16 75 32 20 16 185
L-90-80 80 50 16 95 36 22 16 210
L-90-100 100 60 20 115 41 25 20 230
L-90-125 125 70 25 140 50 30 25 275
AATREH = RBEOF, WEEE, RABTEN 1/3.05.06

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN 160



<

CAMO2ZZI

Automation

NSEL

-
b

£k
7]

90 RF|AR%

SHMPUTITH > 90 BRI RERSE

| cR90.. BUBEEH

7Rl RN (316)

FREERE > 11.0

E
UB
CB
by
& ) :
. 1NERR 4 AR BB 4 @} \SP; Ry
R Wt JtH S e TTC
= iR —@— -
03_|
—L>
FL
XD +
R+%
S FARES (B (@) E FL L UB XD+ D3
CR-90-32 32 14 10 45 22 12 34 142 5.5
CR-90-40 40 16 12 55 25 25 40 161 5.5
CR-90-50 50 21 16 65 27 27 45 170 6.5
CR-90-63 63 21 16 75 32 32 51 185 6.5
CR-90-80 80 25 20 95 36 36 65 210 10
CR-90-100 100 25 20 114 41 41 75 230 10
CR-90-125 125 37 30 140 50 50 97 275 10
| Roo. mEMHEAS
7EL RNEW (316)
E
EwW1
A TITTA 4
H /
@ A\— @ Vb 7
Ert N I o ] B O I e S
7Y @© — 1] ‘ ()
- R s © ©
M
o3| [
M
FL
XD +
R+%
S [aRE EW EW1 [€h] E FL L MR XD+ D3
R-90-32 32 10.5 14 10 45 22 12 15 142 5.5
R-90-40 40 12 16 12 55 25 15 18 161 5.5
R-90-50 50 15 21 16 65 27 17 20 170 6.5
R-90-63 63 15 21 16 75 32 20 23 185 6.5
R-90-80 80 18 25 20 95 36 22 27 210 10
R-90-100 100 18 25 20 115 41 25 30 230 10
R-90-125 125 25 37 30 140 50 30 40 275 10
1/3.05.07 ANVRENE BB, NEEE, BASTEA

161

A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



<

FEREERE > 110 ST > 0 RAIAGWS  CAMozZ

Automation

| zcr-90... BEHIRE R
MR RER (316)

e LARRM 4 ANRERET
RN

+= 1872

90 R FINEEWKEL

R®

B FARES uL TE EA EM XD+ GL BR K PH L5 BT HB RA UR EB
ZCR-90-32 32 51 38 10.5 14 142 21 15 10 32 1.5 10 6.6 18 31 11
ZCR-90-40 40 54 41 12 16 160 24 18 12 36 1.5 10 6.6 22 35 11
ZCR-90-50 50 65 50 15 21 170 33 20 16 45 1.5 12 9 30 45 15
ZCR-90-63 63 67 52 15 21 190 37 23 16 50 1.5 12 9 35 50 15
ZCR-90-80 80 86 66 18 25 210 47 27 20 63 2.5 14 11 40 60 18
ZCR-90-100 100 96 76 18 25 230 55 30 20 71 2.5 15 11 50 70 18
ZCR-90-125 125 124 94 25 37 275 70 40 30 90 3 20 13.5 60 90 20

| zc90... & 90° sz
R REW (316)

EM XD + GL

(] any i
GO O :
+=HhnfTe ] % &

i i HEERE
ﬁH—BI—l——I‘ RA

TE UR

UL
R&&
RS FARES BT CK EM GL HB PH RA TE uL UR XD+
2C-90-32 32 8 10 26 21 6.6 32 18 38 51 31 142
ZC-90-40 40 10 12 28 24 6.6 36 22 41 54 35 161
ZC-90-50 50 12 12 32 33 9 45 30 50 65 45 170
2C-90-63 63 12 16 40 37 9 50 35 52 67 50 185
ZC-90-80 80 14 16 50 47 11 63 40 66 86 60 210
ZC-90-100 100 15 20 60 55 11 71 50 76 96 70 230
Z(C-90-125 125 20 25 70 70 14 90 60 94 124 90 275
AATREN = RBCGEONF, MBEEE, BABTEM 1/3.05.08

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN 162



¢«

CAMOZZI

Automation

il

r

F

e

s

90 RF|AR%

SHMPUTITH > 90 BRI RERSE

| 6-90... R mHFmEL

FREERE > 11.0

7R AW (303)
1S0 8140
CE

Rt%&
s faRES CK LE w™ CL ER CE KK B B1
G-90-25-32 32 10 20 10 20 12 40 M10x1.25 26 18
G-90-40 40 12 24 12 24 14 48 M12x1.25 31 20
G-90-50-63 50-63 16 32 16 32 19 64 M16x1.5 39 26
G-90-80-100 80-100 20 40 20 40 25 80 M20x1.5 50 34
G-90-125 125 30 54 30 55 38 110 M27x2 67 48
| s-90.. EHH

R REW (303)

fl <
P i
L2
L3
L1
L

R-t%
S FARES d L 11 12 13
$-90-32 32 10 53 46 1.1 3
$-90-40 40 12 60 53 1.1 3
$-90-50 50 12 68 61 1.1 3
§-90-63 63 16 78 71 1.1 3
$-90-80 80 16 98 91 1.1 3
$-90-100 100 20 118 111 1.3 5
$-90-125 125 25 139 132 1.3 4.2
1/3.05.09 AATREN = SHEQNF, MEEE, TS TEA
—_ FAFERATIVSE, FibmiE TV SusHEeE
163 BAXFRMEERMTERRAINEEN



<

FREEaHR > 110 SHPATIEN > 0 RIIARGEWMSE  CAMOZZ

Automation

| sr-90... mpsERE

HimfEnrel. AEW (316)
HAEE MR C

T ———dg
g Qi LEHEN L HAREE N
£, |

~n
1
—
=
r
=
&=
%
%
=
R%
N&
S HE A B C D E F G H L -
SR-90-32 32 3 4.5 32.5 1.1 10 9.6 4 41 14 o
SR-90-40 40 4 6 38 1.1 12 11.5 4 48 46
SR-90-50 50 4 6 43 1.1 16 15.2 5 54 20
SR-90-63 63 4 6 49 1.1 16 15.2 5 60 20
| ca-90... BispmsFaREsL
MR REIN (304)
ISO 8139
LR _
V=
A -
SW
R+t%
S Ak N ] EN ER AX CE KK T z sw
GA-90-32 32 10 10.5 14 14 20 43 M10x1.25 15 6.5 17
GA-90-40 40 12 12 16 16 22 50 M12x1.25 17.5 6.5 19
GA-90-50-63 50-63 16 15 21 21 28 64 M16x1.5 22 7.5 22
GA-90-80-100 80-100 20 18 25 21 33 77 M20x1.5 27.5 7 30
GA-90-125 125 30 25 35 35 51 110 M27x2 40 7.5 41
| u-so... smsnoimgs
MR TEI (304)
ISO 4035
.
) —
-~
B N
N
S——
m_|
Rt%&
BS faRE D m sw
U-90-25-32 32 M10x1.25 6 17
U-90-40 40 M12x1.25 7 19
U-90-50-63 50-63 M16x1.5 8 24
U-90-80-100 80-100 M20x1.5 9 30
U-90-125 125 M27x2 12 41
AASHREN = RBGHROIF], MBELE, BRBTEM 1/3.05.10

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN 164





